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Radial grating (Semens-star) N-W

Radial grating (Siemens-star) N-Z

L*/Y-0,00 0.0/0.0 23.9/4.1

(absolute)

Y=Yt+0,00

*
I*CIELAB, t 00
I*ClELaB, 41 0.0

L*/Y-0,00 0.0/0.0  6.4/0.7

(absolute)
Y=Yt+0,00

No. and
Hex code

0.067

I:CIELAB, t 00
0.067

I CIELAB, t+r 0.0

Picture C1: Radia gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; PS oper.w*lin 1.0 exp setgray
47.7/16.6 71.6/43.0 95.4/8Blg(min.) Wi (max.)

0.25 0.5
0.25 0.5
Picture C2: 5 visual equidistabt-grey stepss NO + W1, PS operatorw*lin 1.0 exp setgray

25.4/4.6 31.8/7.0 38.2/10.2 44.5/14.2 50.9/19.2 57.3/25.2 63.6/32.3 70.0/40.7 76.3/50.4 82.7/61.6 9BR4I8BIG3

12.7/1.5

0.133
0.133

Picture C3: 16 visual equidistalit-grey steps; PS operatav*lin 1.0 exp setgray
-_q_ ISO/IEC-test chart no. 3A according:g)g/
Y

V L (6] Y
www.ps.bam.de/IE87/10A/A87EQONP.PS/.PDF; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

M C

Radial grating (Siemens-star) W-N

background step O 1 ringstep 0-1
Hex code Hex code
7 8 7-8
E E-F
2 2-0
8 8-6
F F-D

Landoalt-rings W-N

code: background-

ring

Picture C4: Landolt-rings W-N; PS operatomw*lin 1.0 exp setgray
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Radial grating (Siemens-star) W-Z
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line raster diameter inIpi

Picture C5: Line raster under 45° (or 135°); PS operattin 1.0 exp setgray
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& 120

&2 0

D 30
075 10 15] 16|17 18| 19| 20| 21| 22| 23] 24| 25] 26| 27 28] 29| 30

No(min.) W (max.
075 10 o(min.) Wy (max.)

line raster diameter inIpi

19.1/2.8

0.2 0.267
0.2 0.267

0.333 0.4
0.333 0.4

0.467
0.467

IEC 15775 and

0.533
0.533

ISO/IEC 19839-X;output:w*lin 1.0 exp setgray

Picture C6: Line raster under 90° (or 0°); PS operattiin 1.0 exp setgray

0.867
0.867

0.933 1.0
0.933 1.0

(0K) 0.667
0.6 0.667

0.733
0.733

input: w*lin 1.0 exp setgray
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